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X 2+0.20 X 0.20 X 2+0.90 X 0.45 X 1/2 X 2 X 2-0.45 X 0.45 X 2 = 2505 2.51 m2
HEH

(RB-40) t= 20 cm 0.90 x 1.20 = 1.080 1.08 m2
E@EIE 110 x 1.20 = 1.320 1.32 m?2
RAHY—2 500 x 600 FH T -2 1.0 ®

ARo)— 1k
Foh— 4.0 N
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REZEIE HiE 32 x 05 = 160 m2
mEHAO 32 x 05 = 160 m2
&5t 320 m3 - 3.20
HEHE
rEBEM-30]  t=15cm (F5=5tf1&kY) = 141 m2 14
TEEERC-40)|  t=20cm (FZ5=&tHifI&Y) = 1.4 m?2 14
BEEAZRB-40)|  t=30cm (F5=5t1&LY) = 141 m2 1.4
TEH A OSHE
B#(RC-40)]  t=20cm (F5=&tAIkY) = 189 m2 1.9
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HEHE
BARWETATY t=5cm (TZ5=&tll&LY) = 3.00 m2 3.0
TEE A OSE

BAETHETAY|  t=5cm (TZ=EHAI&LY) = 300 m2 3.0
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R BRIZ2 B4R 7% 300 x 300HRIEL
IEE= 29 m
460
80 300 80

% pT I v g =X =R (] B} =

Co7% ZRES 1.04%Y) 597 kg L= 20 m
( 29 =20 )x 0597 = 087 t t 0.87
087 t = 250 t/m3 = 0.35 m3 0.35
= it t 0.87
m3 0.35
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P KUR-300 X 300EiEL
ERE= 522 m
585
142.5 300 142.5
70 70
o
g| 8
g
& 3 5 = Bl #% =
Conk ZRE G 1.04%Y 561 kg L= 20 m
( 522 = 20 )x 0561 = 1464t ¢ 14.64
1464 t = 250 t/m3 = 586 m3 5.86
=1 it t 14.64
m3 5.86
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U-300 % 300HRiEL

B 400
400 l
50 300 50 E J_?_él 8\
| % En B M B
ZRES 1.04 %Y 77 kg L= 06 m , (UFi#)
1.08&Y 32 kg L= 06 m (&)
i 109 kg

( 24 =06 )x 0109 = 044 t t 0.44
044 t <+ 250 t/m3 = 0.18 m3 0.18
R NO4+90 fHE = 24 m EiAH
ZirH
ZirH
ZdH

&ft 24 m
& i t 0.44
m3 0.18
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& U-400 x 400ERIEL
EE= 18 m
_ 510
510
55 400 55
L -1
% BB 1 = B W =
Co#k —RER 1.048%Y 118 kg L= 06 m (UFiE)
1.08EY 47 kg L= 06 m (&)
&5t 165 kg
( 18 =06 )x 0165 = 05 t t 05
05 t = 250 t/m3 = 02 m3 0.2
R NO4+130 fHhE = 18 m EirAH
EidH
A% 18 m
& £t t 05
m3 0.2
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Eh=EERE EIRL

(1100)

\ (KUR=300 { 300) \

e

R — \\

(71

L]

&

B fi

&E
il

1.0m=Y 0.59 m2

059 m2 X 1.00 m

0.59

m3

0.59

059 m3 X 235 t/m3

1.39

1.39

(0.300+0.777) x1.10x 1/2

059 m2

op

=]

m3

0.59

1.39
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£ ¥R BEERSEkft XDV EuiEL
150
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oY _m i

% pi I - § =X Bl W =
Co% 23 10EfAHEY 001 m2
001 m2 X 100 Ay = 0.01 m3 0.01
001 m3 X 235 t/m3 = 0.02 t 0.02
0.300 X 0.257 X 0.150 = 001 m2
& &t m3 0.01
t 0.02
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1.0&Ff &HY

% W AstiiERR HUIEL
% ]RO® g =X Bl #H =
SHAE AR ARIE L | As, t=10cmELF 32 x 10 + 32 x 10
=  6.40 m2 " 6.40
LR EREEL t=5cm 32 x 10 X 005 = 0.16 m3
t=3cm 32 x 10 x 005 = 0.6 m3
&3t 0.32 m3 0.32




